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Paper - I

Note : This paper contains Sixty (60) multiple choice questions, each question carrying two (2) marks.

¢ Candidate is expected to answer any Fifty (50) questions.

¢ In case more than Fifty (50) questions are attempted, only the first Fifty (50) questions will be

evaluated.

1.  The term ‘Yellow Journalism’ refers to
(A) sensational news about terrorism and violence
(B) sensationalism and exaggeration to attract readers / viewers.
(C) sensational news about arts and culture
(D) sensational news prints in yellow paper.

2.  In the classroom, the teacher sends the message either as words or images. The students

are really
(A) Encoders (B) Decoders
(C) Agitators (D) Propagators

3.  Mediais known as
(A) First Estate (B) Second Estate
(C) Third Estate (D) Fourth Estate

4. The mode of communication that involves a single source transmitting information to a
large number of receivers simultaneously, is called

(A) Group Communication

(B) Mass Communication

(C) Intrapersonal Communication
(D) Interpersonal Communication

5. A smart classroom is a teaching space which has
(i)  Smart portion with a touch panel control system.
(11) PC/Laptop connection and DVD/VCR player.
(iii)) Document camera and specialized software
(iv) Projector and screen
Select the correct answer from the codes given below :
(A) (1) and (ii) only
(B) (ii) and (iv) only
(C) (), (1) and (iii) only
(D) (1), (i1), (iii) and (iv)
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WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

e — [

AT: o THUTATT H WS (60) TgaHAT U € | U U9 & (2) H T |
o 3N I HIE I T (50) T F ST I |
o I T (50) ¥ 3T UL & IW T O gAH w= (50) U9 & S S |

1. OiA-TEehRar Ug & HeY €
(A) 3dehars 2R fEar & foug § gaaies TaeEr |
(B) UTICHI/SRIHT ol STTHTT i & [T TAGIRRaT 3 a9t |
(C) el 3R TEHT & FE-EST AR |
(D) Hiet TS W B9 GAEEST GHER |

2. forerer e O Uk Wew wrsat A1 fenll | OStar € | fomnelt arda 7 €

(A) TUTHIEH (B) fewied
(C) TuRReed (D) WUTeE
3. dHifem I sar g
(A) v | o B) Tedta war ot
(C) T &= at (D) =qd g« At
4. TOR H g GEA ST 95 TR SRIAST Sl Toh G | T [r AT TR T &, FEeArdm &
(A) THE gHEU
(B) SH 99X

(C) 3Tt ¥OR

(D) FoAred® TR

5. U TS T fRTeT0T 1 O e € e
(i) TR U9 Sheiel Faees & Qi Wie UivH et |
(i) O 9/ AU HRE R S A B / o 9 IR AT &l |
(iii) STERIHE HIRT R TWICATESS TFRTI & |
(iv) TSR 3 BhA e |
i ST T ISt ¥ Hel ST BT 997 DT
(A) (i) &R (i) et
(B) (i) 3R (iv) Haet
(©) (i), (i) 3 (iii) Haa
(D) (), (i), (iii) 3R (iv)
W-00 3 P.T.O.
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6. Digital Empowerment means
(1)  Universal digit literacy
(i) Universal access to all digital resources.
(iii)) Collaborative digital platform for participative governance.
(iv) Probability of all entitlements for individuals through cloud.
Choose the correct answer from the codes given below :
(A) (1) and (i1) only (B) (ii) and (iii) only
(C) (), (i) and (iii) only (D) (), (1), (ii1) and (iv)

7. The next term in the series :

2,7, 28, 63, 126, _

is

(A) 215 (B) 245
(C) 276 (D) 296

8. The next term in the series :

AB, ED, IH, NM,

is

(A) TS (B) ST
(©) TU (D) SU

9. If STREAMERS is coded as UVTGALDQR, then KNOWLEDGE will be coded as
(A) MQPYLCDFD (B) MPQYLDCFD
(C) PMYQLDFCD (D) YMQPLDDEFC

10. A is brother of B. B is the brother of C. C is the husband of D. E is the father of A. D is
related to E as

(A) Daughter (B) Daughter-in-law
(C) Sister-in-law (D) Sister

11. Two numbers are in the ratio 3 : 5. If 9 is subtracted from the numbers, the ratio becomes
12 : 23. The numbers are

(A) 30,50 (B) 36,60
(C) 33,55 (D) 42,70

12. The mean of the ages of father and his son is 27 years. After 18 years, father will be twice
as old as his son. Their present ages are

(A) 42,12 (B) 40,14
(©) 30,24 (D) 36,18
W-00 4

WWW a?27Subiects com


www.a2zSubjects.com
www.a2zSubjects.com

www.a2zSubjects.com

6. fesiieet RIieRehiol & 39 &
() e fefe QR |
(i) Tt Tefgeet Hidi ae QrEvifgs uga |
(ili) FTARTE & fow Teurht fefsteet wew™ |
(iv) oSS & HeEy 9 Gt el s Tifad 9 |

T ST T e ¥ TET IR HT FI DT
(A) (i) 3 (ii) FaA (B) (i) 31 (iii) ot
(©) (i), (ii) 31 (iii) HaeA (D) (), (ii), (i) 3 (iv)

7. 3H @A H A UL Y

2,7, 28,63, 126,
(A) 215 (B) 245
(C) 276 (D) 296

8. IT YT H ST U &
AB,ED,IH,NM,
(A) TS (B) ST
(C) TU (D) SU

9. 37K STREAMERS % % UVTGALDQR &, @ KNOWLEDGE 1 %< &

(A) MQPYLCDFD (B) MPQYLDCFD
(C) PMYQLDFCD (D) YMQPLDDFC

10. A,BHUET IB,CHUEE IC,DHUGE |E, A fuar & | D &1 E ¥ day ghm

(A) == (B) Ty
(C) wmt (D) &
11, ST TEW3:5 % A F & | SR 9 Hl 37 Feamelt § § g o Sy, ot o ura 12 : 23 &hm,
(A) 30,50 B) 36,60
(C©) 33,55 (D) 42,70

12, TUaT 3R 3T I St 3T T TeAEE 27 99 € | 18 Fiel 1% {Uar 319+ I &0 37g ¥ 07T 8 |

SR TAAE I §
(A) 42,12 (B) 40, 14
(C) 30,24 (D) 36,18
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Read the following passage carefully and answer questions 13 to 17 :

The literary distaste for politics, however, seems to be focused not so much on the largely
murky practice of politics in itself as a subject of literary representation but rather more on how
it is often depicted in literature, i.e., on the very politics of such representation. A political novel
often turns out to be not merely a novel about politics but a novel with a politics of its own, for
it seeks not merely to show us how things are but has fairly definite ideas about how things
should be, and precisely what one should think and do in order to make things move in that
desired direction. In short, it seeks to convert and enlist the reader to a particular cause or
ideology; it often is (in an only too familiar phrase) not literature but propaganda. This is said to
violate the very spirit of literature which is to broaden our understanding of the world and the
range of our sympathies rather than to narrow them down through partisan commitment. As
John Keats said, ‘We hate poetry that has a palpable design upon us’.

Another reason why politics does not seem amenable to the highest kind of literary
representation seems to arise from the fact that politics by its very nature is constituted of ideas
and ideologies. If political situations do not lend themselves to happy literary treatment, political
ideas present perhaps an even greater problem in this regard. Literature, it is argued, is about
human experiences rather than about intellectual abstractions; it deals in what is called the ‘felt
reality’ of human flesh and blood, and in sap and savour (rasa) rather than in arid and lifeless
ideas. In an extensive discussion of the matter in her book Ideas and the Novel, the American
novelist Mary McCarthy observed that ‘ideas are still today felt to be unsightly in the novel’
though that was not so in ‘former days’, i.e., in the 18™ and 19" centuries. Her formulation of
the precise nature of the incompatibility between ideas on the one hand and the novel on the
other betrays perhaps a divided conscience in the matter and a sense of dilemma shared by many
writers and readers : ‘An idea cannot have loose ends, but a novel, I almost think, needs them.
Nevertheless, there is enough in common for the novelists to feel... the attraction of ideas while
taking up arms against them — most often with weapons of mockery.’

13. According to the passage, a political novel often turns out to be a
(A) Literary distaste for politics (B) Literary representation of politics
(C) Novel with its own politics (D) Depiction of murky practice of politics

14. A political novel reveals
(A) Reality of the things (B) Writer’s perception
(C) Particular ideology of the readers (D) The spirit of literature

15. The constructs of politics by its nature is

(A) Prevalent political situation (B) Ideas and Ideologies

(C) Political propaganda (D) Understanding of human nature
16. Literature deals with

(A) Human experiences in politics (B) Intellectual abstractions

(C) Dry and empty ideas (D) Felt reality of human life

17. The observation of the novelist, Mary McCarthy reveals
(A) unseen felt ideas of today in the novel
(B) dichotomy of conscience on political ideas and novels
(C) compatibility between idea and novel
(D) endless ideas and novels

W-00 6
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fefafad merer st e | ufgy 3R ueT 9@ 13 § 17 T & 3R T
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3 &, W7 § o€ UIShi i HROT AT aRERT {999 § 951 a1 Geleg w1 9l § | 98 U
Hifeed & &I & (TE el Ty URFad UgaY §) ik Ueh U=IR BidT & | T9H Qiisicass SIeT
sk & g &, Fed & fove st well-wifa Iwer € 3 s Wer{aal 1 FIF-a S g ¢
T BRI T 3R] el ol e Tidaal @ Gehiol 7 Y SIGT {6 S Hied 5 F81 € — g6 Ud Hred
T YO &It &, S 80 W o5 for ST € 17
o T 3T e § & faem o foamur @ fAfhd et & 1 afs aoifaes fefa s &t s
e T T8 T Ut & A 39 He | Ao faar 3 off iR wueEr 99 #Rd € | i &
oY | g q a1 ST & foh g8 it o/ |l &t oSig 9-a 3Fai % 9] H el © | 98 9
ST B “HEgT e ARAtRar W gaR wAr § 3R ARG a9 g foart @ S e 3
RN (TT) T Fefed el € | ST i SY=AFHR A Tehedl F 30T Jieh “amefear R Atger |
7 faua W &l 7T s == | el @ i <Suarg § e [aeRi & aR o1t ot a Hegd oA St €
T o SR B & I Teiiioh UET “Uger” ST 189 31 1931 T | =& o1 | Ueh 3R faan 3K ey
3R 3T & g AT % T WEY T ST 80T GHId; 0 ATl § forifsra grar 1 dobdl &
3 Uk UM e € ST e ohgehl SR TS % o9 € “TaEr 9 @i € Al § ur gredt & 6
SUIE | ST FEYIEAT Bl & | THEH SIESE SUANHRI & {0 98 WegH AT HE qH
T ... TaeR fotes e Ser U foari o Ui STehyuT 3TYe YT o8 o SUSTH & &I & 9T |

13. T T % AR Uh TSI ST Ui Fefetfad § & o1 o ST ¢ 2
(A) Tt = fog wrfefer et (B) ISHITe ot Fifefeadh wfe

(C) 319 &l TSIt oAt SU=am (D) TSTHITT T ST YT Sl =T
14. U oI U9 9 Fefafad 9 9 @ uar 9o & 2

(A) STl ardtaesar (B) EEH HAY

(C) UISH i TRy fawe (D) WfEed S 9reT
15. 310 Tvrer § T o1 @re el &

(A) vEred TeTiae feafa (B) foar 3R faamemmd

(C) ST TR (D) WS @ H T
16. difeca d F=feitaa & 9 fovg 9 ==l ot S € 2

(A) TSI H 7 SFwe (B) difigeh o forem

(C) Ih 3R o foar (D) TME Sad &l Hegd i T8 ardtaehal

17. SYETESHR O AT ot feior & FHtarad 5 | fohdeht Il Tetdl € 2
(A) ST H TS % T Hegy (U MU faar
(B) TTHITdeh forem 31T U=l U¥ Siae=iar & fgiamem
(C) Toami 2R SU=Td & = /g
(D) 3Fq foar 3 U=
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18. When in a group of propositions, one proposition is claimed to follow from the others, that
group of propositions is called

(A) An argument (B) A valid argument
(C) An explanation (D) Aninvalid argument

19. Namita and Samita are brilliant and studious. Anita and Karabi are obedient and irregular.
Babita and Namita are irregular but brilliant. Samita and Kabita are regular and obedient.
Who among them is/are brilliant, obedient, regular and studious ?

(A) Samita alone (B) Namita and Samita
(C) Kabita alone (D) Anita alone

20. Warrior is related to sword, carpenter is related to saw, farmer is related to plough. In the
same way, the author is related to
(A) Book (B) Fame
(C) Reader (D) Pen

21. Given below is a diagram of three circles A, B and C over-lapping each other. The circle
A represents the class of honest people, the circle B represents the class of sincere people
and circle C represents the class of politicians. p, q, 1, s, U, X, Y represent different
regions. Select the code that represents the region indicating the class of honest politicians

who are not sincere.
A

&
B v C

Codes :
A X B) q
O p D) s

22. “A man ought no more to value himself for being wiser than a woman if he owes his
advantage to a better education, than he ought to boast of his courage for beating a man
when his hands were tied.”

The above passage is an instance of
(A) Deductive argument (B) Hypothetical argument
(C) Analogical argument (D) Factual argument

23. By which of the following proposition, the proposition ‘wise men are hardly afraid of
death’ is contradicted ?

(A) Some wise men are afraid of death.
(B) All wise men are afraid of death.

(C) No wise men is afraid of death.

(D) Some wise men are not afraid of death.

W-00 8
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18. ST WXl % Y9 ¥ U UATE SO URTal | SFeAIed el S, af Waral 1 I8 T FHeeldi
(A) T T (B) U 3 ol
(C) UH TR (D) UF &Y Teftel

19. =fHar T |iEar ST duret AT gl & 1 AT i et SRRt AR Hataa € | | ear
3T AfFar eratad § W Bumel § | WfEdr iR wadr fafEa R ot § 1 e ¥ BE
T, SRR, FRfa i afver 878 2

(A) aet |t (B) ftar i wfar
(C) et et (D) et 3t
20. Tigl H GoY TR 9 €, 96 6 oY A 9 €, 0 & G99 g ¥ ¥ | 39 o @ oT@H H
ey &
(A) T (B) whifqd @
(C) =¥ (D) Fem

21. e U RE fear mar € fSEed A9 99 A, B iR C U T H AdAd W R T | I A
AR A & o T WA Rl &, g B = @l o o o Jidiraed T & 31 g
C TS & o 1 Uidi-reed ST E |1 p, q, 1, s, U, X, Y STTT-3TeTT &5 ot Uiatrees s
T 1 39 e H T BN ST 3F & K@ & o SR ISHarstt 6 o &, S e 1@t

g
82
B \J/ C
ETE
(A X B) q
O p D) s

22, “JgX TOTeT T Y ISHT THT STGHT BT 379 I T T AT IhgHE T 8 WBR & S TR
T &1 Y g3 ARt i dieshe fohdt STIRHT gRT 310 Ted & Ir@! TarAT
UG ST fRTe ST ¢ 2
(A) T A% (B) I dF
(C) WETIHTH Th (D) TeATHS qH

23,  ‘gigu Al AT & gog W AT gl & Iard (etetad ¥ o foraent faRremart & 2
(A) F9 TgAE Al T & wafid e & |
(B) & JigHM Al g ¥ 9afid eid & |
(C) 1% o gigAr =afe gog @ wafia & e |
(D) F9 TgA Al g & 9T el & |
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country CO, emissions (million metric tons) from various sectors are given in the

following table. Answer the questions (24 to 29) based on the data given :

CO, emissions (million metric tons)
Sector | Power | Industry | Commercial | Agriculture | Domestic
Year
2005 500 200 150 80 100
2006 600 300 200 90 110
2007 650 320 250 100 120
2008 700 400 300 150 150
2009 800 450 320 200 180
24. What is the percentage (%) growth of CO, emissions from power sector during 2005 to

25.

26.

27.

28.

29.

W-00

2009 ?
(A) 60 (B) 50
© 40 (D) 80

Which sector has recorded maximum growth in CO, emissions during 2005 to 2009 ?

(A) Power (B) Industry
(C) Commercial (D) Agriculture

By what percentage (%), the total emissions of CO, have increased from 2005 to 2009 ?

(A) ~89.32% B) ~57.62%
(©) ~40.32% D) ~113.12%

What is the average annual growth rate of CO, emissions in power sector ?

(A) ~12.57% B) ~16.87%
(©) ~30.81% (D) ~50.25%

What is the percentage contribution of power sector to total CO, emissions in the year
2008 ?

(A) ~30.82% (B) ~41.18%

(C) ~51.38% (D) ~60.25%

In which year, the contribution (%) of industry to total sectoral CO, emissions was

minimum ?

(A) 2005 (B) 2006

(©) 2007 (D) 2009
10
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Tt &3 & fohelt <31 % e SrgaieEs (CO,) 3o (Hfera wiedt &) Frafataa e
H ey U e | 5T T ST % U W U (24 § 29 TF) 1 S ST |

CO,, 3w (Taferam wigdt 27)

- o= o= ST | Anfvias | FE W
2005 500 200 150 80 100
2006 600 300 200 90 110
2007 650 320 250 100 120
2008 700 400 300 150 150
2009 800 450 320 200 180

24. T 2005 ¥ 2009 % IR fowfd & H CO,, IS Bl IR g (WTewer) 1 ¢ 2

(A) 60 (B) 50
(C) 40 (D) 80

25. @ 2005 # 2009 F IR CO, ST H {8 &8 § Saehad Jhg &1 B TE 8 2

(A) Terg (B) @
(C) anorrTes (D) FU

26. @ 2005 ¥ 2009 H CO, i FT Icq [ HIRTIAT (FTHRT) T T2 & 2

(A) ~ 89.32 ufqera (B) ~ 57.62 ufqera
(C) ~40.32 ufaerd (D) ~ 113.12 ufqema

27. o &3 o CO, Seqs i 3 a1t Jieg T 8 2
(A) ~ 12.57 ufqea (B) ~ 16.87 ufasa
(C) ~30.81 ufaea (D) ~ 50.25 gfqea

28. T 2008 H FT CO, ST | forefd &3 1 Wfcrrran AN 1 € 2

(A) ~30.82 gfdqa (B) ~41.18 ufava
(C) ~51.38 ufaea (D) ~ 60.25 gfqea

29. T &7 WaHt CO, IS H A 1 AR (Hfereret) o o H e o 2

(A) 2005 (B) 2006
(C) 2007 (D) 2009
W-00 11 P.T.O.
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30. Symbols A-F are used in which one of the following ?
(A) Binary number system
(B) Decimal number system
(C) Hexadecimal number system

(D) Octal number system

31. Which one of the following is not a search engine ?
(A) Google (B) Chrome
(C) Yahoo (D) Bing

32. CSS stands for
(A) Cascading Style Sheets
(B) Collecting Style Sheets
(C) Comparative Style Sheets
(D) Comprehensive Style Sheets

33. MOOC stands for
(A) Media Online Open Course
(B) Massachusetts Open Online Course
(C) Massive Open Online Course
(D) Myrind Open Online Course

34. Binary equivalent of decimal number 35 is
(A) 100011 (B) 110001
(C) 110101 (D) 101011

35. gif, jpg, bmp, png are used as extensions for files which store

(A) audio data (B) image data
(C) video data (D) text data
W-00 12
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30. A-F % & Udiehi ol fferiad o 9 foa w2 fvar mar € 2
(A) TgMERT 3 vomett (B) SR 37k OTeAr
(C) USRTmEd 37 JUTe! (D) 3T 37 JoTet

31. frfafEd § @ &4 91 99 359 T2 € 2
(A) T (B) M
(C) = (D) s

32. (CSS & U ¥ &
(A) Cascading Style Sheets
(B) Collecting Style Sheets
(C) Comparative Style Sheets

(D) Comprehensive Style Sheets

33. MOOC & qui &9 &
(A) Media Online Open Course
(B) Massachusetts Open Online Course
(C) Massive Open Online Course
(D) Myrind Open Online Course

34, IIHAT 37 35 B FIMER TS &
(A) 100011 (B) 110001
(C) 110101 (D) 101011

35. gif, jpg, bmp, png T T HEed % fa@aR & &9 H a1 ST 8, ST $eR0T it €

(A) itgar e (B) TEST T
(C) difeat =t (D) R TR
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36. Which of the anthropogenic activity accounts for more than %rd of global water
consumption ?
(A) Agriculture
(B) Hydropower generation
(C) Industry

(D) Domestic and Municipal usage

37. One of the anthropogenic sources of gaseous pollutants chlorofluorocarbons (CFCs) in air
is

(A) Cement industry
(B) Fertiliser industry
(C) Foam industry
(D) Pesticide industry

38. In terms of total CO, emissions from a country, identify the correct sequence :

(A) U.S.A. > China > India > Russia
(B) China > U.S.A. > India > Russia
(C) China > U.S.A. > Russia > India
(D) U.S.A. > China > Russia > India

39. Match List — I and List — IT and identify the correct code :

List -1 List - II

a.  World Health Day i. 16" September
b. World Population Day ~ ii. 1% December
c.  World Ozone Day iii. 11" July
d. World AIDS Day iv. 7" April
Codes :

a b c d
(A) i i i v
B) iv il i i

© 1  moiv 1
D) i v il i
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36 P 4 i < e s et 4 fre () 4 s e w3 e
SUEHET T 92
(A) P
(B) ST 9 fosTetl Searg
(C) =&
(D) TR 31 TRt FRT STHNT

37. UFG S et Fidl § F I T T 50E I FARGART e (CFCs) ag § & 2
(A) ¥re s (B) 3o S
(C) I & (D) AT T

38. TohEll 30§ Ho1 CO, o s % 6w H Wl 56W &l Te=g ;
(A) JUET > I > 9Rd > &
(B) M >JUAT > 9Rd > &I
(C) ¥ >3JUaTu > wF > 9Rd
(D) JUET > dH > &TF > 9Rd

39. eI % G-I F GAferd Y 3 T& % B Tea BT ;
= -1 = - 10
2. fRawreEfEm i 16 fgar
b, fova o= kw1 KEER
c. fT@mamAiE® i 11 9o
d. v ued ke iv. 7 me

A 1 i il v
B) iv ui i i
© i m ivi
D) 1 v il i
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40. The cyclone ‘Hudhud’ hit the coast of which State ?
(A) Andhra Pradesh (B) Karnataka

(C) Kerala (D) Gujarat

41. Which of the following is not a renewable natural resource ?
(A) Clean air (B) Fresh water
(C) Fertile soil (D) Salt

42. The maximum number of fake institutions / universities as identified by the UGC in the
year 2014 are in the State / Union territory of

(A) Bihar (B) Uttar Pradesh
(C) Tamil Nadu (D) Delhi

43. Which of the following institutions are empowered to confer or grant degrees under the
UGC Act, 1956 ?

1. A university established by an Act of Parliament.

2. A university established by an Act of Legislature.

3. A university / institution established by a linguistic minority.
4.  Aninstitution which is a deemed to be university.

Select the correct answer from the codes given below :

(A) land?2 (B) 1,2and3

(C) 1,2and4 (D) 1,2,3and 4

44. Which of the following are the tools of good governance ?
1. Social Audit
2. Separation of Powers
3. Citizen’s Charter
4. Right to Information

Select the correct answer from the codes given below :

(A) 1,3and4 (B) 2,3and4
(C) land4 (D) 1,2,3and 4
W-00 16
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40. THAT FEER W 5T o T H THTAT 2
(A) 3Tg wewT (B) HACH
©) & (D) TS

41. Ffefaa § @ B 91 Teeoia Wehiae @id el ¢ 2
(A) W= arg (B) =T U
(C) 3o fug (D) HF

42. TovaloRIe TR 3TN gRT a9 2014 | SI=IRA Srelt Feensti/favataenea st sAfaswhad
T Freteted | 9 e Teo/ae Tsue | €0

(A) fr (B) SW WY
(C) drHeTg (D) feoett
43, T=fafEd B 9 ®HF 9 G avafamerd SR S stafay, 1956 & o7 fetlt 3 a1 uge
A & TTT e € 2
. OE% % SutEy s e fovataemer
2. Toum-dee & stutaw gRT wnfud fovatammer
3. W STUEEEsh §RT TNy fovataenera/ae
4, Tovaformer Tweh ST aTel T
T ST el T TEl ST T FF DT
(A) 13R2 B) 1,2373
(C) 1,234 (D) 1,2,3 34

44, TAfeiEd 5 ¥ S AR % 9TE € 2

1. IS AEToRieT
2. vIfeAal s e
3. ARG 9
4. GO H AER
T 15T el § el I A T4 T
(A) 1,334 (B) 2,334
(C) 134 (D) 1,2,3 34
W-00 17 P.T.O.
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45. Which of the following powers, the President has in relation to Lok Sabha ?

1.  Summoning
2. Adjournment — sine die
3. Prorogation
4.  Dissolution

Select the correct answer from the codes given below :

(A) land4
B) 1,2and3
(C) 1,3and4

D) 1,2,3and4

46. The interval between two sessions of parliament must not exceed
(A) 3 months
(B) 6 months
(C) 4 months
(D) 100 days

47. Right to Privacy as a Fundamental Right is implied in
(A) Right to Freedom
(B) Right to Life and Personal Liberty
(C) Right to Equality
(D) Right against Exploitation

48. Which of the following organizations deals with ‘capacity building program’ on

Educational Planning ?
(A) NCERT

(B) UGC

(C) NAAC

(D) NUEPA

W-00 18
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45, i 9T % TaY H TSt S Efaiad § @ & 9@t v o § 2
. o% ger
2. AMREA A & o ST
3. TEEEH
4. HTHET
T 15T el § el I A T4 T
(A) 134
(B) 1,233
(C) 1,334
(D) 1,2, 334

46. TIS F T T & o T ARA FATATEd § T TR ATaes Tei &1 ey ?
(A) 349" (B) 6d®

(C) 47® (D) 100 f&T

47. i AR % T | FHs7ar o Afusr Hefoiad § 9 fead siafafed & 2
(A) AT 1 SATHHR

(B) STia 2 SATFHT Tl o 3TMhR
(C) THTHT T 3TEHR
(D) SNOT % Ty AR

48. TrefefEd o § A 91 TS HeIforeh ST H eTHaT 10T S F T @ ¢ 2
(A) TAHZIAR
(B) FS.
(C) TATTHEL
(D) TFIUE
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49. “Education is the manifestation of perfection already in man” was stated by
(A) M.K. Gandhi (B) R.N. Tagore

(C) Swami Vivekanand (D) Sri Aurobindo

50. Which of the following is not a prescribed level of teaching ?
(A) Memory (B) Understanding

(C) Reflective (D) Differentiation

51. Maximum participation of students during teaching is possible through
(A) Lecture method (B) Demonstration method

(C) Inductive method (D) Textbook method

52. Diagnostic evaluation ascertains
(A) Students performance at the beginning of instructions.
(B) Learning progress and failures during instructions.
(C) Degree of achievement of instructions at the end.

(D) Causes and remedies of persistent learning problems during instructions.
53. Instructional aids are used by the teacher to
(A) glorify the class (B) attract the students

(C) clarify the concepts (D) ensure discipline

54. Attitude of the teacher that affects teaching pertains to

(A) Affective domain (B) Cognitive domain
(C) Connative domain (D) Psychomotor domain
W-00 20
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49.

50.

S1.

52.

53.

54.

W-00
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“feTeT BT H Ueel ¥ foRISTH quidt &t 3fifaia &7 % T HeT T & |
(A)  FeTeHT et (B) TersAmg &k
(C) @t faesrg (D) &t aRfest

ftetEd & 9 i |1 18707 1 qaEiig wX Tal & 2
(A) T (B) ay
(C) wEad (D) Torv<eReoT

foreror & SO formnférat o6t ferenas TewTiier fohaeh gRT G & 2

(A) =AE YFd (B) fewm ugfa
(C) STHATHS UHd (D) UTRAYRTF THA
A=177ek P tfaffee e &

(A) 3TISTN & URY § forRnterat s sre-Feamee

(B) 3R o SR AT i WA ST fawherar

(C) =N % 37 | Iuaifey ot feafa

(D) SRR & S ST Bt T FHEST & HRT SR F7H=

3TEATIS FRT SIS VNCHS T&Teh AT T ST

(A) TR BT TRAT U A o foTT (B) fo=nférai &t ehitd e & foTw
(C) TehouHTaT Hl Teedl & folT (D) 3R St HREar % T

frerer =ttt fSrent S foreror oX oo wee &, 1 Hey €

(A) YEHE & F (B) IS &7 F

(C) TESTaTeHe &7 d (D) T &F 9
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55. When planning to do as social research, it is better to
(A) approach the topic with an open mind
(B) do a pilot study before getting stuck into it
(C) be familiar with literature on the topic

(D) forget about theory because this is a very practical

56. When academicians are called to deliver lecture or presentation to an audience on certain
topics or a set of topics of educational nature, it is called

(A) Training Program (B) Seminar
(C) Workshop (D) Symposium

57. The core elements of a dissertation are
(A) Introduction; Data Collection; Data Analysis; Conclusions and Recommendations
(B) Executive Summary; Literature review; Data gathered; Conclusions; Bibliography
(C) Research Plan; Research Data; Analysis; References

(D) Introduction; Literature Review; Research Methodology; Results; Discussion and
Conclusion

58. What is a Research Design ?
(A) A way of conducting research that is not grounded in theory.
(B) The choice between using qualitative or quantitative methods.
(C) The style in which you present your research findings e.g. a graph.

(D) A framework for every stage of the collection and analysis of data.

59. ‘Sampling Cases’ means
(A) Sampling using a sampling frame
(B) Identifying people who are suitable for research
(C) Literally the researcher’s brief case

(D) Sampling of people, newspapers, television programmes etc.

60. The frequency distribution of a research data which is symmetrical in shape similar to a
normal distribution but center peak is much higher, is

(A) Skewed (B) Mesokurtic
(C) Leptokurtic (D) Platykurtic
W-00 22
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55. ST HTHISTR 9NY Y ASHT 4TS ST AT Sga) g
(A) ot feam | fawa & an | die |
(B) 3UH U{ TNE TaH | Ugel ANIRRN STeds T |
(C) fowa § g Wifecd | uRfad e |
(D) QFifcTehaT i JoiT =fed ik I8 Uh ATIRINH AT ¢ |

56. 19 ToreTfaRl S e I 3TreT F fafere e Heet yen W U IRgfd 39 o fow germn
ST €, T T8 FHeeATd &

(A) UTSTETOT FHIIhH (B) AR
(C) I (D) TaitTEw

57. 3y MY % e o €
(A) TEIEHT; 3THET-TUE,; STehel-foveruur, fepy 37X STere
(B) R HRI, Hifeed TSN, g1 GueoT; et serge
(C) SIS, Iy-3ifehgr; foreetoor, ey
(D) 9EATET, T*IT%WW&TUT, Eﬁa-uvrr%ﬁﬁ; TRom; =4 3T ey

58. vy fesieT T € 2
(A) Iy TETeTT T Ueh TRt ST (g UX 3T 7 & |
(B) TIUTICHS AT AU U5 Tcal o SUANT o 7 fasheq |
(C) o Srelt ST 2179 39T 9 Wit <l U 3T a5 U1 |
(D) 23Sl & Heho 3R foeeiuoT & Uedesh T & o0 Ueh 2 s |

59. Yo HAW H M &
(A) AT H TN 2 61 W4T |
(B) MY % foTq Suger oA <l we= |
(C)  TTSSIT: TTeTeT T Shehd |
(D) TANT, FHMER-U, TATETT Srash S sl AHfenT |

60. TNY-3THET I G TORT ST SHR T FAMAS & SR G G0 & TIH & TR SYHT B4
oY <aTeT ST &, FHEet &

(A) Tomm (B) TeAHPa!
(C) TRt (D) Taftresgar
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